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The below figure is the Four Actions Framework of Blue Ocean Strategy. First, please
try to explain these four actionsin light of differentiation and low costs. Besides, try to
employ one company which in your mind is adopting blue ocean strategy, and explain

how these four actions worked in this company. You can answer this question either in
English or Chinese. (25%)

Reduce
Which factors should be reduced
well below the industry’s

standard?
Eliminate Create
Which of the factors that the A New Value Which factors should be
industry takes for granted should Curve created that the industry has
be eliminated? never offered?
\/
Raise
Which factors should be raised

well above the industry’s standard?




